

2.1 Page 22

①  $(2x^2 + y^2) dx - 2xy dy = 0$

not separable  
 $(2 \cdot (2x^2 + y^2)) dx - 2 \cdot (2x \cdot y) dy = 0$   
 $3(2x^2 + y^2) dx - 4xy dy = 0$   
 $\therefore$  It is Homogeneous

Put  $\frac{y}{x} = u$  (let  $u = \frac{y}{x}$ )  
 $dy = u dx + dx \cdot u$

$(2x^2 + u^2 x^2) dx - 2x \cdot u x (u dx + dx) = 0$   
 $2x^2 dx + 2u^2 x^2 dx - 2x^2 u dx - 2x^2 u dx = 0$   
 $2x^2 dx + 2u^2 x^2 dx - 4x^2 u dx = 0$   
 $(2 + 2u^2 - 4u) dx = 0$

$\int \frac{1}{x} dx = \int \frac{2u}{2 + 2u - 4u} du$  (separable)

$\ln|x| = \ln(2 + u^2)$   
 $\ln|x| = \ln(2 + \frac{y^2}{x^2})$

② not separable

$-y dx + (x + \sqrt{xy}) dy = 0$   
 $-y dx + (x + \sqrt{xy}) dy = 0$   
 $-y dx + (x + \sqrt{xy}) dy = 0$   
 $-y dx + (x + \sqrt{xy}) dy = 0$

It is Homogeneous  
 Put  $\frac{y}{x} = u$  (let  $u = \frac{y}{x}$ )  
 $dy = u dx + dx \cdot u$

$-y dx + (x + \sqrt{xy}) dy = 0$   
 $-u dx + (1 + \sqrt{u}) (u dx + dx) = 0$   
 $-u dx + (1 + \sqrt{u}) u dx + (1 + \sqrt{u}) dx = 0$   
 $(-u + u + u\sqrt{u} + 1 + \sqrt{u}) dx = 0$   
 $(1 + u\sqrt{u} + \sqrt{u}) dx = 0$

$\int \frac{1}{u} du = \int \frac{1}{1 + u\sqrt{u} + \sqrt{u}} du$

$\ln|y| = 2\sqrt{\frac{y}{x}}$

③ Put  $\frac{y}{x} = u$  (let  $u = \frac{y}{x}$ )  
 $\frac{dy}{dx} = u + \sqrt{u}$   
 $\frac{dy}{dx} = u + \sqrt{u}$

Go to D.E:

$\frac{dy}{dx} = u + \sqrt{u}$   
 $dy = (u + \sqrt{u}) dx$   
 $\int \frac{1}{u} du = \int dx$

$2\sqrt{u} = x + C$

$2\sqrt{y-x} = x + C$  (6.5)

④ Put  $\frac{y}{x} = u$  (let  $u = \frac{y}{x}$ )  
 $\frac{dy}{dx} = 1 + \frac{dy}{dx} = \frac{1-y}{x+y}$   
 $\frac{dy}{dx} = 1 + \frac{dy}{dx} = \frac{1-y}{x+y}$

Go to D.E:

$\frac{dy}{dx} - y = \frac{1-y}{u}$   
 $u du = dx$  (separable)

$\frac{u^2}{2} = x + C$

$(x+y)^2 = x + C$

⑤  $(x+2y-4) dx - (2x+y-5) dy = 0$   
 $(x+2y-4) dx - (2x+y-5) dy = 0$   
 $\frac{x+2y-4}{2x+y-5} = \frac{dx}{dy}$

$(a_1x + b_1y + c_1) dx + (a_2x + b_2y + c_2) dy = 0$   
 $\frac{1}{c_2} \frac{2}{c_1 - 1} \Rightarrow$  dx along intercept

$\begin{cases} x+2y-4=0 \\ -2x-y+5=0 \end{cases}$   
 $2x+4y-8=0$   
 $\begin{cases} 2x+4y-8=0 \\ -2x-y+5=0 \end{cases}$   
 $3y-3=0$   
 $y=1 \rightarrow (x=1)$   
 $x=-2+1=2 \rightarrow (y=2)$

Put  $x = u+h$   
 $y = v+k$   
 $\frac{dx}{dy} = \frac{du}{dv}$

Go to D.E:  
 $(u+1+2(v+1)-4) du - (2(u+1)+v+1) dv = 0$   
 $(u+2v+2v+4-4) du - (2u+2+1+v+1) dv = 0$   
 $(u+2v) du - (2u+v+4) dv = 0$   
 $u = tv$